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1 | The use of an ambulance should not be free, and you should pay 30,000 yen for
every service.
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2 | All forms of gambling, including lotteries or casino businesses, should be made
illegal. ELUWHT JBEZEVINTOHBITEIIFEE LETNDINE,

-BBITEER BRZBLTC. A2TRE—MBOCHFELLRVWEDEHRENTEELE.
BT (CHEZEDZE(CH U TERNMEHANSECTVDIREBEH D, FeFvr>
TILREBCRDABVNDZENS. ASHDORENEE THFELTVET.

- ZED—AT. BIFEEFEFFELEFRVWEDD, BECHIFH SN TVSBRO (F. 1RED—
BEHRUEBRIIBZEDTVWDIHEESDE T, SANPRADLD(C, D IESE
E—DDENEREHIL. RATWDETEHDET. BRTENDS JEEZESEL
TRERNEZSNTNET,

3 | Medical schools in Japan should accept equal number of male and female students.
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All fathers should be made to take paternity leave for at least one year.
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B Topic (1A) stmsEnFEOEEIL

B/ 7z Affirmative Constructive Speech

Hello, everyone. Today, I want to argue that BANEET SH
RERRUET,
- The use of an ambulance should not be free, and you should pay 30,000
yen for every service.
I have one reason to support my opinion. RE—FHMER
ULFET.
I8/ signpost T

The reason is “

Let me explain
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We have a problem. BT, COBT
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Then, if we introduce this plan, we can solve this problem as follows. TOBRZEAT
D& EDRRRRM
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Why is this point important? coLTZomE
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For this reason, we should take this plan. Thank you.
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W Topic (1N) 2B BEOBEE(L| SEM iz Negative Constructive Speech

Hello everyone. Today, I strongly disagree that BAMRRE S
EITDIBKRER
- The use of an ambulance should not be free, and you should pay 30,000{=U=7.
yen for every service.
I have one disadvantage. AE—FHBRE
RUET.
Bz g1 SR
. . . R (i
The disadvantage is “ " Let me explain. X heRERCn
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This is a serious problem. ESLTCDR
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For this reason, we should not follow this plan. Thank you. AE—FH#T
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B Topic (ZA) BTEDORDIESEL | BFEMAl s Affirmative Constructive Speech

Hello, everyone. Today, I want to argue that:
All forms of gambling, including lotteries or casino businesses, should be
made illegal.
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I have one reason to support my opinion.
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The reason is “ Let me explain

I8/ signpost T
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For this reason, we should take this plan. Thank you.
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B Topic (2N) BIFBORLIESHL

&EM/ :8 Negative Constructive Speech

Hello everyone.

All forms of gambling, including lotteries or casino businesses, should be

Today, I strongly disagree that:

made illegal.
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I have one disadvantage.
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" Let me explain.
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For this reason, we should not follow this plan. Thank you. AE—FHET
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B Topic (3A) EXEESDESELEI

BEM/ 7z Affirmative Constructive Speech

Hello, everyone. Today, I want to argue that: BANEET SH
_ _ FEERLET.
Medical schools in Japan should accept equal humber of male and female
students.
I have one reason to support my opinion. RE—FHMER
ULFET.
I8/ signpost T

The reason is “

Let me explain

FR(CIRANE T,

We have a problem. BT, COBT
RIREN & 2 DN R
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Then, if we introduce this plan, we can solve this problem as follows TOBRZEAT
D& EDRRRRM
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Why is this point important? coLTZomE
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For this reason, we should take this plan. Thank you.
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B Topic (3N) EZEPEEDES % LT

BEM 3 Negative Constructive Speech

Hello everyone. Today, I strongly disagree that: BN RRZES
EITDHERZR
- Medical schools in Japan should accept equal number of male and femaleiz =79
students.
I have one disadvantage. RAE-FERZE
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" Let me explain.
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For this reason, we should not follow this plan. Thank you. AE—FHET
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B Topic (4A) BHBRHBOEE

B/ 7z Affirmative Constructive Speech

Hello, everyone. Today, I want to argue that BANEET SH
. REREUET,
All fathers should be made to take paternity leave for at least one year.
I have one reason to support my opinion. AE—FHRE R
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The reason is “

Let me explain
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Then, if we introduce this plan, we can solve this problem as follows. TOBRZEAT
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For this reason, we should take this plan. Thank you.
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m Topic (4N) BB RINBOEEL

&EM/ :8 Negative Constructive Speech

Hello everyone.

Today, I strongly disagree that

- All fathers should be made to take paternity leave for at least one year.
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For this reason, we should not follow this plan. Thank you. AE—FHT
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